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	Q1. 
	An algorithm in encryption is called______

	Option A:
	Original Text

	Option B:
	Module

	Option C:
	Cipher

	Option D: 
	Algorithm

	
	

	Q2.
	The legal risks of ethical hacking include lawsuits due to __________ of personal data.

	Option A:
	Stealing

	Option B:
	Disclosure

	Option C:
	Deleting

	Option D:
	Hacking

	
	

	Q3.
	DES has an initial and final permutation block and

	Option A:
	14

	Option B:
	15

	Option C:
	16

	Option D:
	17

	
	

	Q4.
	DES uses a key generator to generate sixteen _________ round keys

	Option A:
	32-bit

	Option B:
	48-bit

	Option C:
	54-bit

	Option D:
	42-bit

	
	

	Q5.
	DES was designed to increase the size of the DES key

	Option A:
	Double

	Option B:
	Triple

	Option C:
	Quadruple

	Option D: 
	Single

	
	

	Q6.
	The _____ method provides a one-time session key for two parties

	Option A:
	Diffie-Hellman

	Option B:
	RSA

	Option C:
	DES

	Option D: 
	AES

	
	

	Q7. 
	AES has ________ different configurations

	Option A:
	Two

	Option B:
	Three

	Option C:
	Four

	Option D: 
	Five

	
	

	Q8. 
	____________ is not suitable for interactive multimedia traffic because it retransmits packets in case of errors. 

	Option A:
	UDP

	Option B:
	TCP

	Option C:
	RTP

	Option D: 
	RTCP

	
	

	Q9.
	_____________ is the protocol designed to handle real – time traffic on the internet 

	Option A:
	TCP

	Option B:
	UDP

	Option C:
	RTP

	Option D: 
	RTCP

	
	

	Q10. 
	__________ is a standard to allow telephones on the public telephone network to talk to computers connected to Internet

	Option A:
	SIP

	Option B:
	H.323

	Option C:
	Q.991

	Option D: 
	SIP and Q.991

	
	

	Q11. 
	A real – time video performance lasts 10 min. if there is jitter in the system, the viewed spends _______ minutes watching the performance 

	Option A:
	Less than 10 

	Option B:
	More than 10 

	Option C:
	Exactly 10

	Option D: 
	Exactly 5

	
	

	Q12. 
	___________ are used to number the packets of a real – time transmission 

	Option A:
	Timestamps

	Option B:
	Playback buffers

	Option C:
	Sequence numbers 

	Option D:
	Timestamp and playback buffers

	
	

	Q13.
	In a real – time video conference, data from the server is _______ to the client sites.

	Option A:
	Unicast

	Option B:
	Multicast

	Option C:
	Broadcast 

	Option D: 
	Unicast and multicast

	
	

	Q14. 
	__________ encoding is based on the science of psychoacoustics, which is the study of how people perceive sound.

	Option A:
	a. Predictive

	Option B:
	b. Perceptual

	Option C:
	c. Huffman coding

	Option D: 
	d. Arithmetic coding

	
	

	Q15.
	MP3 is in which of the following MPEG standards? 

	Option A:
	a. MPEG1     

	Option B:
	b. MPEG22 

	Option C:
	c. MPEG3    

	Option D: 
	d. MPEG21

	
	

	Q16. 
	Extended Huffman code is best suited for

	Option A:
	for logarithmic scale

	Option B:
	for skewed probabilities

	Option C:
	Increasing probabilities

	Option D: 
	Decreasing probabilities

	
	

	Q17.
	Code efficiency is

	Option A:
	avg information per message /avg codeword length

	Option B:
	avg information per message - avg codeword length

	Option C:
	avg information per message +avg codeword length

	Option D:
	avg codeword length /avg information per message

	
	

	Q18.
	Prob a1= 0.2,prob a2=0.2 , prob a3=0.25 , prob a4=0.05 , prob a5=0.15, prob a6=0.15 find entropy

	Option A:
	3

	Option B:
	3.25

	Option C:
	2

	Option D: 
	2.25

	
	

	Q19. 
	compression ratio is……………..

	Option A:
	Uncompressed size /compressed size

	Option B:
	compressed size/ Uncompressed size

	Option C:
	compression gain/compression factor

	Option D: 
	compression factor/ compression gain

	
	

	Q20.
	Tool for implementing security policy may be called as 

	Option A:
	Security process 

	Option B:
	Security authentication 

	Option C:
	Security gaps 

	Option D:
	Security mechanism

	
	

	Q21.
	The four Primary Security Principles related to messages are 

	Option A:
	Confidentiality, Access Control, Integrity, Non repudiation 

	Option B:
	Confidentiality, Integrity, Non repudiation and Authentication

	Option C:
	Authentication, Authorization, Availability, Integrity

	Option D: 
	Availability, Authorization, Confidentiality, Integrity

	
	

	Q22. 
	The ECB mode is deterministic, that is, if plaintext block P1, P2,…, Pm are encrypted twice under the same key, the output ciphertext blocks will be ____________

	Option A:
	Different

	Option B:
	Same

	Option C:
	Encrypted

	Option D: 
	Decrypted 

	
	

	Q23.
	Which of the following are block cipher modes of operation?

	Option A:
	ECB,CCB,EBC,CBC,CTR

	Option B:
	CBC,BBC,ECB,CFB,CTR

	Option C:
	ECB,CBC,CFB,OFB,CTR

	Option D: 
	ECB,CBC,CFB,OFB,CCB

	
	

	Q24. 
	AES uses a ____________ bit block size and a key size of __________ bits.

	Option A:
	128; 128 or 256

	Option B:
	64; 128 or 192

	Option C:
	256; 128, 192, or 256

	Option D: 
	128; 128, 192, or 256

	
	

	Q25.
	MP3 is an extension of a_________ file.

	Option A:
	Video file

	Option B:
	Graphics image

	Option C:
	Audio File

	Option D: 
	Text File
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